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Laccotrephes gossus (Insecta) (Hemiptera)

( Nepidae)
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(2003) Phlhemu (1995) 11
5 Laccotrephes japonensis L. gossus L. robustus

L. maculatus L. griseus 2000 Laccotrephes 
japonensis (2008) Laccotrephes gossus

Laccotrephes obudtus
Laccotrephes gossus  
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15  

 
(A)                          (B) 

   

(C)                           (D) 
A B C

D  
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(A)                    (B)                       (C) 
A B C

 

 

( )  
Huxley(1924)

(allometry)

Huxley Teissier y=ax b y
x a b

b 1
b 1

b 1
 

( )  
(allometry) y=axb (2006)

y axb→log y log a b log x
10  

( )  
    y= axb

x y Microsoft Office Excel 10
logX logY R2

a b a b  
   y axb 
   log y log a b log x 
   Σlogy=n loga+bΣlogx 
   Σ(logxlogy)=logaΣlogx+bΣ(logx)2 

( )  
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( )   
(Motic)

A  
( )  

(Hitachi TW3000, Japan)

B ( ) 

 
(A)                          (B) 

A B  

 

 ( )  
0 ~12

30
5

5  
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( )  
3 A 3

A4 3x3
1mm2

3
t-test 6 B  

 
(A)                          (B) 

 (A)  (B) 
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 ( )  

4 hr

 

(a) (b)

 (f)
(a) (b) (c) (d)

(e) (f)  
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%  

 cm  
 

cm    cm  cm  

 0.73±0.032 0.37±0.061 0.23(31%)±0.015 0.89(121%)±0.041 
 1.01±0.066 0.48±0.136 0.39(39%)±0.029 1.13 (111%)±0.082 
 1.52±0.047 0.67±0.071 0.64(42%)±0.037 1.49(97%)±0.086 
 2.18±0.117 0.92±0.040 1.19(54%)±0.190 2.20(100%)±0.111 
 3.01±0.159 1.24±0.044 1.79(59%)±0.109 2.72(90%)±0.072 

 3.96±0.142 1.26±0.064 3.50(88%)±0.331 3.22(81%)±0.050 

5.4
15 3.6

 

 

 

 

( )  
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( )  

 
1 2

3 4
5  

y=axb x y a
b

b
b b ( )

b 1.87 1.40

b ( )  

b  
 
 
 
 
 
 
 
 

   
 0.787 0.508 
 0.895 0.591 
 0.989 0.129 
 1.164 0.139 
 0.878 0.226 

 1.391 0.366 
 1.404 0.688
 1.870 0.136



 
 

10

 
 

( )  
    b

logY = 1.54logX - 0.44 R2=0.99  p 0.001 b 1

 

 
 

( )  
    b

logY = 0.78logX + 0.05
R2=0.99 p 0.05 b 1
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( )

( )

( )  

 

 

(A) (B) (C)
(D) (E) (F)  

(A) 

(F) (E) (D) 

(C) (B) 
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(A) (B) (C)
(D) (E) (F)  

  

 
(A) 

(E) (F) 

(D) (C) 

(B) 
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(A) (B) (C)

(D) (E) (F)  
 

(A) 

(C) (D) 

(F) (E) 

(B) 



 
 

14

 

 1.  
0.76

1.26 1.80 3.24
4.4 6.20

 

 
 

 2.  
    

3 ( )

( )
 ( ) ( ) t-test

t= 
-6.93 p<0.05 t=-5.12  p<0.05

(t=0.06 p=0.48)  

( ) ( )

t-test

t= -30.31  p<0.05 t=-5.34 p<0.05
(t=-1.03 p=0.18)
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 0.98±0.030 0.39±0.010 1.15±0.005 0.14±0.015 
 1.01±0.007 0.39±0.008 1.12±0.082 0.13±0.012 

   
     

 3.92±0.082 3.92±0.082 3.92±0.082 3.92±0.082 
 3.99±0.079 3.71±0.137 3.17±0.021 0.28±0.009 

 
 

 ( )    1mm2 

    
 0.525 0.103 0.375 0.062 0.361 0.027
 0.854 0.072 0.770 0.236 0.562 0.108

 ( )    1mm2 

    
 10.375 0.375 6.870 0.703 10.025 0.787
 17.750 0.901 8.916 0.629 11.666 0.144

 

                  

 T  p  
 -6.92824** 0.000481 
 -5.11743* 0.001858 
 0.055884 0.478799 

                    

 T  p  
 -30.3076** 3.67E-07 
 -5.34317* 0.001541 
 -1.02543 0.176094 

* p<0.05 ** p <0.001 
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(A) (B) 

(C) (D) 

(E) (F) 
 

A B
C D

E F  
 

(A) (B) 
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(C) (D) 

(E)  (F) 

A B
C D
E F  
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